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Question]:-"eae! e.a@o@ @el @lgeme” agm RIS EOBES®IEM?

A:-o®. eogqm

B:-alemuilg” @:qQaqm

C:- aismiaroodeud

D:-eeaisemoauiodevd
Correct Answer:- Option-D

Question2:-ermwamom quiodle:ud munally 6668 ag@?

A:-agmiagavial. esoess’ aiswmalosmse

B:-mocusmad esmoesm;, @pminiomo

C:- 0 0em:r041000 6883, @oals]

D:-crusodl veowaidlleomm es06883, 9EeEImA

Correct Answer:- Option-C



Question3:-"am mdlo® e®om ead” agmm GO ErmesmIe?
A:-apmiod) e emomuan”
B:-ai6mulg” @Qajad
C:-gaesmoom :000m
D:-njamoma waenous

Correct Answer:- Option-C

Question4:-@@mocowemp@alem a0oewon @oEiMlalal MEAOIM MIWBMIC?
A:- aigmiauodleud
B:-eeai@memumondeud
C:-000&03 @RQIMVIAGUB

D:-eo0m olgs @rwoomd
Correct Answer:- Option-D

QuestionS:—ce,%goen MUAG. MSMN AUBHEAD®?

A:-1913
B:-1915
C:-1923
D:-1925

Correct Answer:- Option-B

Question6:-censowianemol 5 G denlcd aim eomye



C:-@neadlss

D:-euomad
Correct Answer:- Option-D

Question7:-2024-@3 aglmig’ cadwosm mueeas?

A:-esossflewo

B:-canmy eremiainy’

C:-adlany

D:-eeniciedoss’
Correct Answer:- Option-C

Question8:-dloamics. emslw ereesesio arowos?

A:-@rmo anend

B:-o®.08. 90

C:-my=mom all. aemaand

D:-enogpigp
Correct Answer:- Option-A

Question9:-enale; dlaal®o.ed moals emodeng qu.caimmiod MoaIBMIC?



A-ea096eM @@
B:-canjes) arewad
C:-atemuly” @Qajad
D:-auiodl erywamomm

Correct Answer:- Option-B

Question10:-"alzpeamlem aue" Qes munoale:maeasm?
A:- aigmilaruodleed
B:-ae. @oeyudaed  eareial
C:-veanosem @ogiam
D:-aemuilg’ &:qQajd
Correct Answer:- Option-C

Question11:-momuiled wlmoeowsmw@malem mumdwly aidauead?
A:-1923
B:-1924
C:-1925
D:-1928

Correct Answer:- Option-C

Question12:-eomesonicd myg@o alavol alaiedlesma’ agamosm?

A:-equommy @padmud alsloro



B:-emuommy allaypepau.

C:-emuommy caimaldanismoe

D:-eauommy dldeum aid allananmianows
Correct Answer:- Option-A

Question13:-agayien EREEOD (0aIERIBHM alddes A &M@ agaleswosm?

A:-eemoaid’ anel

B:-&n080

C:-ommeal

D:-@pnayies.
Correct Answer:- Option-C

Question14:-geenjdwod woded wwomude] @ryooem?

A:-eoosnids’ enfleayo

B:-em06m eaiam] o:nes’

C:-eomay eldes

D:-emodemes’ ulg)ds’ empos’
Correct Answer:- Option-B

Question15:-cang @pm@aud dme agmmosm?

A:-eanenjaidl 4



B:-00857 13

C:-meec 8

D:-aegoend 30

Correct Answer:- Option-A
Question16:-The work done in an isochoric process is

A:-W=RT In V,
Vi

B:-W=Zero
C:-W=R(T:-T»)

D:-W=RT In P,
P,

Correct Answer:- Option-B
Question17:-The rotational spectrum of molecules arises because of
A:-Change in dipole moment
B:-Change is intensity of incident light
C:-Change in the mass of atoms
D:-None of these
Correct Answer:- Option-A
Question18:-Thin layer chromatography is a technique used to separate
A:-mixtures of coloured chemicals
B:-nonvolatile mixtures

C:-ionizable molecules on basis of charge



D:-components on basis of mass
Correct Answer:- Option-B
Question19:-One dimensional Schrédinger equation for a free particle is
A:-(-h?/2m)0?¥(x,t)/0x?= ihd¥ (x,t)/0t
B:-02¥(x,t)/0x?=(ih/2m) 0¥ (x,t)/0t
C:-(-h?/2m) 02¥(x,t)/0x2= (1/ih) 0¥ (x,t)/0t
D:-(-2m/h?) 0¥ (x,t)/0x%= ih 0¥ (x,t)/0t
Correct Answer:- Option-A

Question20:-If the phase difference between two component waves is other than quarter cycle, the resulting
wave is said to be

A:-circularly polarized

B:-plane polarized

C:-elliptically polarized

D:-None of these

Correct Answer:- Option-C
Question21:-The visible series of spectrum of hydrogen is

A:-Paschen series

B:-Lyman series

C:-Pfund series

D:-Balmer series

Correct Answer:- Option-D

Question22:-Entropy of universe



A:-always decreases
B:-always increases
C:-remains same
D:-none of these
Correct Answer:- Option-B
Question23:-The angle of incident for which the refracted ray emerges tangent to the surface is called
A:-Brewster angle
B:-polarized angle
C:-incident angle
D:-critical angle
Correct Answer:- Option-D
Question24:-The intention of Michelson-Morley experiment was to prove
A:-there is no ether medium
B:-velocity of light is constant in vacuum
C:-velocity of light depends on the velocity of frame of reference
D:-both b) and c)
Correct Answer:- Option-C
Question25:-The Coriolis force acts on a body due to the
A:-Perpendicular motion of the body
B:-the rotation of earth

C:-the acceleration due to gravity



D:-None of these

Correct Answer:- Option-B

Question26:-Force per unit length between the wires, length L and current I I, flowing

through them separated by a distance d is

A:-F =l L1, /2md
B:-F =L L, /41td
C:-F =W, I, /2mid

D:-F =L I, /4md

Correct Answer:- Option-A

Question27:-The relativistic kinetic energy of a particle with rest mass 1, and instantaneous mass m,
if c the velocity of light is

2 4
A:-Kinetic energy = MC *11,C
2 2
B:-Kinetic energy =/1C —111,C
. 2 2
C:-Kinetic energy =/MC  *#11,C

2 4
D:-Kinetic energy =/l1C  *11,C
Correct Answer:- Option-B

Question28:-The electric field between two parallel plate capacitor having surface charge density o



A:'E :G/ e}
B:-E =20/,
C:-E =2/c o

D:-E =6%/2 o
Correct Answer:- Option-A
Question29:-The work done per unit volume of a twisting wire is
A:-W=1/2 (stress x strain X mass)
B:-W= (stress x strain x mass)
C:-W= 1/2 (stress x strain)
D:-W= 1/2 stress / strain
Correct Answer:- Option-C

Question30:-The couple per unit twist of a wire of radius r length 1 having bulk modulus 'n' is

A:-C =gnr?
21

B:-C =xnr*
21

C:-C=tnr
21

Correct Answer:- Option-B

Question31:-For progressive wave reflected at a rigid boundary



A:-particle velocity is reversed

B:-phase of pressure variation is reversed
C:-no change in phase

D:-particle velocity remains constant
Correct Answer:- Option-A

Question32:-Excess pressure inside a soap bubble of radius r and surface tension T is
A:-P=nr’T
B:-P=4T/r
C:-P=2Trr
D:-P=2mrT
Correct Answer:- Option-C

Question33:-The critical velocity of liquid is
A:-directly proportional to velocity of a liquid
B:-inversely proportional to its density
C:-inversely proportional to radius if the tube
D:-All of these

Correct Answer:- Option-D

Question34:-The terminal velocity of a water drop of radius r falling through the air (the coefficient of viscosity

of air is 1.8x10"> SI Unit) is
A:-0.12m/s
B:-0.102m/s

C:-0.012m/s



D:-0.0012m/s
Correct Answer:- Option-C
Question35:-The path of a charged particle in a uniform electric field is
A:-a Parabola
B:-a Circle
C:-a Hyperbola
D:-an Ellipse
Correct Answer:- Option-A
Question36:-The dimension quality factor 'Q' of an oscillator is
A:-same as that of power
B:-same as that of amplitude
C:-same as that of velocity
D:-dimensionless
Correct Answer:- Option-D
Question37:-The rate of transmission of energy across unit area of wave front is called
A:-energy density
B:-energy current
C:-energy velocity
D:-None of these
Correct Answer:- Option-B

Question38:-The rocket works in the principle of



A:-Law of conservation of linear momentum
B:-Law of conservation of angular momentum
C:-Law of conservation of energy

D:-All of these

Correct Answer:- Option-A

Question39:-A particle of mass m undergoing simple harmonic motion of displacement x and force constant k,
the differential equation is

A:-d’x = (km)x
dt?

B:-d’x = (-k/m) x
d*

C-d’X + yy dx =(-k/m)x
dt? dt

D:- dX_ | 4X (-k/m)x=0
de dt
Correct Answer:- Option-B
Question40:-As the length of simple pendulum increases, the period of oscillation
A:-remains constant
B:-decreases
C:-increases
D:-none of these
Correct Answer:- Option-B
Question41:-The amplitude of a driven oscillator becomes maximum at a particular frequency known as

A:-Driven frequency



B:-Damping frequency
C:-Sharpness frequency
D:-Resonant frequency
Correct Answer:- Option-D

Question42:-A charged particle of mass m and charge q is moving in a constant magnetic field B, the angular
velocity w is given by

2

A- _ OB
m

B = 4B
m

C- ,_ 6B
m
Di- = gB?
mZ

Correct Answer:- Option-C
Question43:-According to Galilean transformation equation what is invariant?
A:-Velocity
B:-Displacement
C:-Acceleration
D:-Force
Correct Answer:- Option-C

Question44:-The flux of total energy flowing out through a closed surface in unit area in unit time in electric
magnetic field is

A:-Volume current density

B:-Poynting Vector



C:-surface charge density
D:-Transmission coefficient
Correct Answer:- Option-B
Question45:-Capacitative reactance is
A:-inversely proportional to the frequency of a.c applied
B:-directly proportional to the frequency of a.c applied
C:-independent of the frequency of a.c applied
D:-depends on the low frequency of a.c applied
Correct Answer:- Option-A
Question46:-Degeneracy state means
A:-states with same number of atoms
B:-atoms having same mass numbers
C:-two or more states with same energy
D:-none of these
Correct Answer:- Option-C
Question47:-The coordination number of fcc structure is
A:-12
B:-16
C:-8
D:-4

Correct Answer:- Option-A



Question48:-Of the following which one can be used to produce very high magnetic field?
A:-Soft super conductors
B:-Type II super conductors
C:-Aluminum
D:-Type I super conductors
Correct Answer:- Option-B
Question49:-The average power dissipated across a pure inductor is
A-12LF
B:-1/4L I
C:-2L P
D:-zero
Correct Answer:- Option-D
Question50:-The operation by square of j vector operates on a vector rotates it through an angle
A:-90°
B:-180°
C:-360°
D:--90°
Correct Answer:- Option-B

Question51:-Torque on a current carrying coil having total magnetic moment m and kept in a uniform magnetic
field B is

A:-mxB

B:-m. B



C:-m B cos ¢

D:-1/mx B

Correct Answer:- Option-A
Question52:-Cause for air pollution is

A:-emissions from vehicles

B:-combustion of fossil fuel

C:-Poisonous gas

D:-none of these

Correct Answer:- Option-A

Question53:-"The amount of dissolved gas in a liquid is proportional to its partial pressure above the liquid'-the
law state this is

A:-Henry's Law

B:-Feymen's Law

C:-Laplace's Law

D:-Raoult's Law

Correct Answer:- Option-C
Question54:-Adding common ion to a solution

A:-increase solubility

B:-decreases solubility

C:-neither increases nor decreases solubility

D:-increases reaction coefficient

Correct Answer:- Option-B



Question55:-Rotation axis coupled with a translation parallel to the rotation axis will give rise to a symmetry
operation known as

A:-glide axis symmetry
B:-inversion symmetry
C:-plane axis symmetry
D:-screw axis symmetry

Correct Answer:- Option-D

Question56:-er@enids’ eagadailae emosnm @ARAUIMP @PBANMIW d:6Mgalgmo
_ 2
A:-E =IMC
B:-eanoeso meigls;’ waney’
C:-eanoeso eaummiesgemaud

D:-@6mze @lodl
Correct Answer:- Option-B

Question57:-@oalam qRodal o alOQmM®Y ------ eM@oE’

A:—am%canom”

B:-@reeacainmy

C:-mye@omy

D:-ee@esnomad

Correct Answer:- Option-D



Question58:-6aocﬁogoua(w“ OEERINHUM MRS BT ntladiM alcieeaiden aleromileaum @M eMAa]ammaled

---- @ROE:.
A:-009
B:-aie:0
Ci-mpod gdlem® emd @omalomo

D:-apiod gdled alaid@momaliode
Correct Answer:- Option-C

uestion59:- @088 8@ @leg nIoud Mlaissomo U. OOMIEM. af)aTMIEM GRMIOM (JEUWMOIRIBE @RMIURIM@)Io
tion59:-100 ) leng” enioud aflal 0.1A° g foa oy ol

A:-6.626x10m/s
B:-5.27x10 % m/s
C:-6.626x10° m/s
D:-6.623x10° m/s
Correct Answer:- Option-B
Question60:-ed condlemealad sodenemled ee0EIOHUETAHMD
A:-SP
B:-SP?
C:-SPp?
D:-SP*d

Correct Answer:- Option-B



Question61:-emued’ een 60a0 6®BE0 HOWMIEE )R] MITWenSldlenmo

A:-9m@@e00q0

B:-agmoe]

C:-eoaugaidommaniedd @l

D:-d agmdsd
Correct Answer:- Option-C

Question62:-epgoviedews G@I@IcRIE@o 6T DeIeamEUdEs) Moal RIEREMlE: dI0amR. MMIQHU DmMeoIdlesla).

0D @TROAUMO® ---= )T alOQYT.

A:-ealoglny’ ag@sag)eum efadmilajud

B:-aoerery’ gud

C:-60a0" 610 @fBadlaflud

D:-aufl eeniowy’ el esaoeatoaiomiiony’
Correct Answer:- Option-A

Question63:-esoalelwe. @:ogewosmia @psmRlaldesm [ | meegomeses agepe

A:-6

D:-10

Correct Answer:- Option-A



Question64:-g3- 0o a0’ (@Jd:000 @eflaEla &oosmo

A:-K.E s:oqmo

B:-K.E asmaoy

C:-28G. ggmoy

D:-2dg0 #sooma
Correct Answer:- Option-A

Question65:-dlervo esoemmemeud Baldleral moglal W agI@eE:06ME’

A:-omidss deriald @rmed:6mE

B:-eomyeyeud @oo6mo

C:-e@m@d eHomImBETVHMd &0@6Mo

D:-ng)@”cﬁls)caern(o% CHOIMIMETVAHUM HI@EMo
Correct Answer:- Option-C

Question66:-anmemrud Goawmsglcd 283 eIl eidfa]eam@nod snrweas Tlwa.

A:-e00mymy’ eelo

B:-anidav eern

C:-esruo@@my’ el

D:-ea0d@my’ ean

Correct Answer:- Option-D



Question67:- SP* eeaneniow eodenigeled S muieai a@@osmo
A:-50%
B:-25%
C:-33.3%
D:-100%
Correct Answer:- Option-C
Question68:-XeF; - alad Xe-qes escoenjoscneruauad
A:-SP3d
B:-SP*d’
C:-SP
D:-SP?
Correct Answer:- Option-A

Question69:-ep@emesaim® anteseiuye OH ~ @oewasm. @ader msesmm Syl dwosued cog” aomes

WIUWIDEOW @)UY 4dlesmo

A:-OH - erewosmion

B:-ao@emesaimd cnoseciulen

C:-oemogesayo

D:-H mrewosniedd
Correct Answer:- Option-B

Question70:-@9e¢ a0QMAIRIE3 6@:680IWGSOS DaIBRINOTTE  EISITOD aBDY



A:-osnd  dldamosmo

B:-oass. walle:eemo

C:-mdegod owmdg 9emos:rmay

D:-aigo aildamosme

Correct Answer:- Option-D

Question71:----e@® melw enwalewosm eladw a0SA o alOQmME

A:-eldwe e &odenieemg’

B:-elidwe. @:odeniesmg’

C:-elidwe egoosoy’

D:-elidw. 66aDEAYICHIOHOUS

Correct Answer:- Option-A

Question72:-mrdemo @pmiuses medcd imulajesam @reeacy’ elesel al0Qm 26Q0Ms Eald”

A:-eogesmomicuies el e

B:-agayud eleses

C:-sanpeg’ eleme

D:-canoemyg’ agayd efes e

Correct Answer:- Option-C

Question73:-aemnralsolaes gs@asmiaes @oElLJ0ZM @Jd0UBe MISHUD Galoeal BOMOGAND ) TDEOEI6TE



A:-eeyemom gaead

B:-dmdcwad «jeoal

C:-00nm @ane’

D:-e0w’ a1 apogdleuy’
Correct Answer:- Option-B

Question74:-agglo moudgled @@I@O Qb0
A:- MgS0O;,. 2H,O
B:- MgSO,. 5H,0
C:- MgS0,. ¥2H,0
D:- MgS0O,. 7H,O

Correct Answer:- Option-D

Question75:-moe¢ alomaad snewocllewawamilnd caddlad agmosm’

A:-PGA
B:-PTFE
C:-PMMA
D:-PVC

Correct Answer:- Option-A

Question76:-cles@d gaiegoe (E o Ni =-0.24V) e0aid meiegoys (E o cy =0.34)oedlcd sniacudafsjerzoman eavelod
EMF

A:-0.34V



B:-0.24 V
C:-0.58 V
D:-0.1V

Correct Answer:- Option-C

Question77:-memadwaaiss esnidmiad ala ag@ae:amn
A:-eecnemioeom
B:-ceenioeoosm eemeesaly
C:-esnionemuowd

D:-oo@esniocond
Correct Answer:- Option-C

Question78:-m96¢ ao@maRI® aggape mudeowss @oelm g
A:- CH, = CH,
B:- CH; -CH=CH- CHj;
C:- CH;-CH=CH,
D:- CH;-CH,- CH= CH,
Correct Answer:- Option-B

Question79:- NH4+smg> X om=53.55 Scm’mol™ o C I~ @rewosmlod A om = 76.25 Scm’mol™” Scm’mol™ erem.
e caosod N Hy Cl O EGRIBOB BEMRGMBTY 42.57Scm’mol™? oo @rem agedd N Hy Cl oi

N H, Cl Al 80a0" aulleruomifle@aumm ag)@

A:-0.327



B:-3.04
C:-0.7022
D:-1.43

Correct Answer:- Option-A

Question80:-geoar dled . MElwd andgesidmiom eredasiy Mdammm @oe:ddue e
A-o0dg
B:-anocuseoosm
C:-dlervoend

D:-eea0eaic006m
Correct Answer:- Option-C

Question81:-esnm@mimied msesmm MuuBeandEeMaUM IBUTIOL! DRIEH066 0TS
A:-HSO4
B:-SO3
+
C:-H3S04

D:- H2SO4
Correct Answer:- Option-B
Question82:-es00jd quudeandlal dlan’ 6 20w eoad aldadenomoierow meiglmid

A:-2F



B:-6.023X102F
C:-4F
D:-1F

Correct Answer:- Option-A

Question83:-@ay@d ad@dow’ quenieeecmaum agmads] ®6¢ aloQmMAWRIT @RAEIET BB
A:-3P

B:-3d

Correct Answer:- Option-D

Question84:-gjenomy’ Aom@’ ag@os:am

A:-alc. KOH
B:-anhy. ZnCl,
C:-NaNO,\HC!
D:-HBF,

Correct Answer:- Option-B

Question85:-gm eanwimyeg. mmaimoamuoel® agowidigiem caoai@em -------- af)o alOQ).

A -@dlenmd carowia

B:-cuenigflencsad easnaila

C:-pepieioe el



D:-¢hajud eatowiad’
Correct Answer:- Option-D

Question86:-am engeleciss’ @6 @0B6NIEM’ @RREBSI FNIMWMo 6.21QEaSIElEBM LlNIMOMIEM ==== 0o AIOQYM®.

A:-eesmeweg’ elnod

B:-e60w anoaiego ellnoddy

C:-g meegoem elnod

D:-eanod sogliesoem allnody
Correct Answer:- Option-B

Question87:-gsmeaoglaneind ageldemaum dwossaieais’ o@dduiog Ml @roosme.
A:-#036ninmewosm
B:-#&odesnnsmiwe. @pewoend
C:-d ooculenad

D:-e6ancouosmiw. @oewosn
Correct Answer:- Option-B

Question88:-mquodafem mouwdesomy’ ol BOQI ag)BES Mo
A:-momdesomy’
B:-eemwageryay’

C:-smdeaidesmy’



D:-eemeamy
Correct Answer:- Option-B
Question89:-ewodw. @rgTDlaEs @REMENERA DAIGHITBHBOS af§Re

A:-0

Correct Answer:- Option-D

Question90:- v modaw’ dewmd@er arsaslaidenm oagad

D:-Al

Correct Answer:- Option-A

Question91:-a@ anqy’ eodwd dwosum 30 daider 75% ojdonlwoqeoossmelcd @y dwossemd attad’ Oeelad’

af) @WII@AlER0
A:-15 min
B:-11.62 min
C:-7 min
D:-10 min

Correct Answer:- Option-A



Question92:-esmioenom @R@RIRISoM’ 6eWUNMES dlelntBatla] Gosmlasmmo

Correct Answer:- Option-C

Question93:-emeieel canodeag’ emoWIeeeIgnIW AIBCTIERENIINE DERIG:AN WPMY

AI-COQ

Correct Answer:- Option-D

Question94:-moe¢ a0l GIAIG:IAUMNDILISS CEIOMIDETE R

D:-HBr

Correct Answer:- Option-A

Question95:-@e¢ alo@an TLADAIMIAITVN (&G0 ABGe BSEMIIUD afI®D MUEANER.

2S02 + 02 ©2803 + 42.0KCal



A:-mugeimoaimnoled e aogayde)

B:-cuvgmaimoaiun arimaeeomes 20Qo

C:-rugmaimaqimin ehs@alee@mER 10Qo

D:-aqvaangy cudeose &:00e

Correct Answer:- Option-C
Question96:-Summative evaluation is

A:-Assessment to learning

B:-Assessment for learning

C:-Assessment of learning

D:-Assessment by learning

Correct Answer:- Option-C
Question97:-Pantomime is an example for

A:-Role play

B:-Dramatization

C:-Diorama

D:-Brain storming

Correct Answer:- Option-B
Question98:-Which of the following tells us the nature of teacher taught relationship

A:-Syntax

B:-Support system

C:-Principle of reaction



D:-Social system
Correct Answer:- Option-D

Question99:-Pedagogy means
A:-Art of teaching
B:-Science of teaching
C:-Art of learning
D:-Science of learning
Correct Answer:- Option-B

Question100:-Which is the correct sequence of classification of objectives
A:-Remembering-Understanding-applying-Analysing-Evaluating-Creating
B:-Understanding-Remembering-applying-Analysing-Creating-Evaluating
C:-Understanding-Remembering-Analysing-Creating-applying-Evaluating
D:-Remembering-Understanding-Analysing-Creating-Evaluating-applying

Correct Answer:- Option-A



